Gurudas College

Internal Examination 2021
Semester |1
Paper: CC2/GE2- Introductory Macroeconomics
Answer any ten questions. 1x10

1. The final values of goods and services produced within a domestic boundary of a
country in a certain period of time is called
i. GNP
ii. NNP
iii. GDP
iv. ~NDP

2. Net national product (NNP) =
i.  GDP + Depreciation cost
ii. GDP — Depreciation cost
iii. GNP — Depreciation cost
iv.  None of these

3. Per capita national income =

i.  National income x total population

i.  National income + total population

iii.  (National income =+ total population) x100%
iv.  None of these

4. According to Prof. Keynes, the value of MPC
i. O0<MPC<1
ii. 0<MPC<1
iii. 0>MPC>1
iv. 0>MPC=>1

5. According to Prof. Keynes, MEC curve
i.  Upward sloping from left to right
ii.  Downward sloping from left to right
iii.  Horizontal
iv.  None of these



6.

ii.
iii.
iv.

7.
I
ii.

If AC < AY, then
MPC =0
MPC > 1
MPC <1
None of these

The value of Balance budget multiplier is
1
<1
>1
None of these

Fisher’s quantity equation is

M.V = (1/P.T)
MV=P.T
(1/MV)=P.T

None of these

Narrow money means

10. According to money multiplier (m) =

iii.
iv.

1/M.H
M x H
M/ H
H/M

11. Inflation means

iii.
iv.

The price of a particular commodity increases
General price level increases

Both i & ii

None of these

12. Long run Phillips curve is

iii.
iv.

Parallel to horizontal axis
Parallel to vertical axis
Upward sloping
Downward sloping
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